BIOLOGY

CELLS / MOVEMENT OF PARTICLES ASSESSMENT
15 minutes (20 marks)
1.   When a red stain is added to a tissue culture containing both living and dead cells, only the dead cells take up the stain. Which one of the following structures, then, would be stained red?

A. cell membrane

B. cell wall

C. cytoplasm

D. nucleus

2.   A blue stain is applied to a tissue culture, but the particles of the staining liquid are too large to pass through a semi-permeable membrane. Which organelle, then, prevented the stain from going any further?

A. cell membrane

B. cell wall

C. cytoplasm

D. nucleus

3.   Which is an example of active transport?

A.  movement of glucose into the cells of the villi

B.  movement of glucose down a concentration gradient

C. movement of water in transpiration streams

D. movement of phagocytes in the blood plasma

4.   An athlete’s leg muscle cells would need more energy than his/her toe muscle cells. The leg cells would therefore contain more:

A. nuclei

B. mitochondria

C. cytoplasm

D. vacuoles

5.   Which of the following is NOT a characteristic of osmosis?
A. Requires a semi-permeable membrane.
B. Occurs in only water / liquids.
C. Deals with movement of particles from a higher to lower concentration.
D. Eventually, the particles reach an “equilibrium” state.
6.   Which of the following is NOT found in animal cells?
A. nuclei

B. starch granules

C. cytoplasm

D. vacuoles

7.   Which of the following is the nucleus NOT responsible for?

A. Storage of the cell’s genetic material and DNA

B. Site for metabolic reactions.

C. Control of cell functions

D. Regulation of cell growth

8.   Which of the following is NOT found in animal cells?

A. nuclei

B. starch granules

C. cytoplasm

D. vacuoles

9.   Which of the following is NOT found in animal cells?

A. nuclei

B. starch granules

C. cytoplasm

D. vacuoles

10.   When a plant cell loses water, it causes the cell membrane to shrink away from the cell wall. This process is called:

A. diffusion

B. turgor

C. isotonicity

D. plasmolysis

11. Figure 1 shows a regular plant cell.
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            FIGURE 1
(a) On Figure 1 above:

(i)  Label, as A, the organelle which is made of cellulose.

(ii)  Label, as B, the organelle which stores sap.

(iii) Draw in the organelle which contains the DNA.

      Label it as C.                                    

(iv)  Draw in the organelle which contains chlorophyll.

      Label it, stating its name.

(5)
(b) (i) To the right of the diagram, sketch what the cell would look like if it were placed in a solution of lower water potential.                                        
(2)
(ii) Show arrows to indicate movement of water particles.  
(1)
(c) State the names of TWO organelles, aside from those asked to be labelled B and C, that are also found in animal cells:

1. ___________________

2. ____________________ (2)
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